www.akidzon.com(click to practice the difficult-adaptive questions) Name: Date: Time Taken:
If 19-2=17, then If 12+2=14, then If 1+8=9, then
17 + =19 |14 - 12 = 9 - 8
If 18-7=11, then If 1+12=13, then If 8-5=3, then
+ 11 = 18 -1=12 |5+ 8
If 3+10=13, then If 7-3=4, then If 9+10=19, then
-10=3 ||[4 + 3 = 19 — 10 =
If 10+2=12, then If 2+13=15, then If 4+12=16, then
12 — =2 ||[15 - 13 = 16 — 12 =
If 15-9=6, then If 13+5=18, then If 12+2=14, then
9+ 6 = - 13 =5 -12 =2
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If 20-5=15, then If 11-5=6, then If 7+8=15, then
15 + 5 = 6 + 11 -7=28
If 20-17=3, then If 8+2=10, then If 14+4=18, then
+ 3 =20 (10 - 218 — 4 =
If 5-3=2, then If 13+3=16, then If 12-9=3, then
2 + 5 - 13 =3 |9 + =12
If 5-2=3, then If 64+5=11, then If 4+10=14, then
2+ 5 (|11 - 6 |14 - 10 =
If 20-11=9, then If 4+12=16, then If 13+6=19, then
+9=20(16 - 4 = - 13 =6
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If 6+12=18, then If 4+3=7, then If 4+2=6, then
-12 =6 |7 - 6 —2 =
If 15+1=16, then If 8+3=11, then If 2+5=7, then
-1=15 |11 - -2=95
If 8+1=9, then If 10+2=12, then If 16-15=1, then
9 - =8 12 - 10 = + 15 = 16
If 12-6=6, then If 10-6=4, then If 10+4=14, then
+6=12 ||6 + 4 = -10=4
If 11+8=19, then If 12+1=13, then If 19+1=20, then
19 — =11 |13 - 20 — =1
Akidzon.com is a self-paced adaptive online learning portal Page 3 of 4


www.akidzon.com/?category_id=/home/aaron/projects
www.akidzon.com/?category_id=/home/aaron/projects

www.akidzon.com(click to practice the difficult-adaptive questions) Name: Date: Time Taken:
If 15+3=18, then If 9-2=7, then If 3+12=15, then

18 — 7+ 2= 15 - 12 =

If 3+6=9, then If 1+3=4, then If 7-1=6, then

9-6-= 4 — +1=7

If 8-2=6, then If 19-1=18, then If 14+3=17, then

6 +2= 18 + 1 = -3=14

If 13+2=15, then If 5+7=12, then If 9+5=14, then

15 - 2 = 12 — 14 — =5

If 8+9=17, then If 4+6=10, then If 12+3=15, then

17 - 9 = 10 - 4 = -3 =12
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